Trigonometry Practice Test
1. Consider the triangle ABC, shown below. Use the Pythagorean Theorem to find the missing side. Then find all trig ratios below and simplify all answers. 
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X= _______________
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sin ( A = __________

cos ( A = __________

tan ( A =  __________

sin ( B = __________

cos ( B = __________

tan ( B =  __________

Find the missing angle measures.
2.




3.





4. 

Find the missing sides. 

5.




6.





7. 

8. 
A rocket ship is two miles above sea level when it begins to climb at a constant angle of 3.5° for the next 40 ground miles. About how far above sea level is the rocket ship after its climb?

9. 
A bird watcher spied a woodpecker. The bird watcher is 40 yards lower than the woodpecker. The distance from the bird watcher to the woodpecker is 175 yards. What is the angle of elevation?

10. 
A hot air balloon is one mile above sea level when it begins to climb at a constant angle of 4° for the next 50 ground miles. About how far above sea level is the hot air balloon after its climb?

12. 
A highway has an angle of elevation of [image: image12.png]11



 and a vertical drop of 800 feet. To the nearest foot, how long is the highway?

14. 
Find x to the nearest degree.
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11. 
After flying at an altitude of 600 meters, a hot air balloon starts to descend when its ground distance from the landing pad is 10 kilometers. What is the angle of depression for this part of the flight?
13. 
A tree grew at a 3° slant from the vertical. At a point 50 feet from the tree, the angle of elevation to the top of the tree is 17°. Find the length of the tree to the nearest tenth of a foot.

[image: image3.png]



15. Find x to the nearest degree.
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16. 
To approximate the length of a pond, a surveyor walks 400 meters from point L to point K, then turns and walks 220 meters from point K to point E. If mLKE [image: image5.png]


 110, find the length LE of the pond to the nearest tenth of a meter.
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